E—]? 22 ﬂ?& Z 4 : CALCULUS
% £ 1 003251
=58 & 7B # = E_®
ORI 12 [ @={x|x=1,0¢P»q€Z} @={xx:i»0¢1”qez}
q p

L5 20 B

| PO

POl

BTATIOTI AR | A =g A} =U\4 A ={x|xe 4 =U\4
ST4F18712,13 5 B={x|x=%,q>p,p,qu} B={%,q> pandp,qu}

27 SE T SR =(ANnB)u(4uC) =(ANnB)u(AnC)

SYTEIBY23 (4% | a<bora-bora>b a<bora=bora>b

5‘3‘8_&4[5‘;12 |jj‘k‘_f (—oo,b)z{x|x<b},[—oo,b)z{x\xﬁb}, (—oo,b)z{x\x<b},(—oo,b]={x|x£b},
53 IZEIE‘TI = Fig 1.10 the distance |PQ]| Fig 1.10 the distance | PQ ||

<:>[(x—a)2 +(

—b)2]+[(x2 _a)z +(r,

-b)?]

S[(x, —a)’ +(y, =)’ 1+[(x, —a)® + (v, —b)°]

OP = x'(cos @,sin 0) + y'(—sin @, cos )

OP=xi'+ v’
=x'(cos@,sin ) + y'(—sin &, cos &)

coordinates of a point P on

coordinates of a point P(x, y) on

Simpliying this equation, we have

2 2
X Y

2
a

—+5=1, where b =a’ —¢

2

Simplifying this equation, we have

W+’ +y?)?=QRa—y(x-0)* +y*)
x? +2cx+y2 =44 —4awl(x—c)2 +y2

+x% = 2cx + y?

orex+a’ =—c11/()c—c)2 +y2

Square Bothsides,

c*x? =2ca’x+a' =a*(x* = 2cx+c* +y?)

or(a® —cHx? +a’y* =a* —a’c?
Letb? =a* —c? , then we have ¢*x? —a’y?

=a?b? and hevce

2 2
x_2+y_2=1
a b
@17?[%}‘54 = If the foci F(—c,0) , F'(—c,0) If the foci F(—c,0) ,F'(c,0)
ST1T ST 15 = AX? +BYYy +Cy?* +D'x+Ey+F =0, where | A'x'> +B'x'y'+C'y'?> +D'x'+E'y' + F' =0, where
ST20 F15T8 i~ to the VectorMPz(x—x0 ,V=Yo Yo sZ—2Zp) totheV€ct0rMP=(x—x0 ,V—Yo»,Z—2Zy)

x  [-1[0[09][1[2] 3 |-

y=g@ | 2]1]o1]o]1]|1414]-..

x  |-1]0]09]1]2] 3 |-
y=g |2 [1]o1fo]1]V2]-

@) (f+2)1) = f()+g(1)=rwee

@) (f+g)D)=fA)+g(l)=r+

~1~




(b) (f —2)2) — f(2) +g(2) =+

) (f —2)2)= f(2) + g(2) = -+

e 2) 3 2 245 2) 2/3 2 2

ST25 FI9Y3 5 ()( J()_f()z_z - Vs (d)( j()_& . \/_
g2) 5 35 15 @ 5 5 15

ST2T FIFEeST8 = | 6. (g0 f)0) 6. (f°g)0)

5727 FIEes73 = | 1. Find f and such that k=g o f Il. Find f and g suchthath=go f

ST28 FIFE=T9 = |IFleSeN, IfleScN,

- - 2,2 2 _ o n(n+1)(2n+1) 2 2 2 _ c 5 _n(n+D(2n+1)
BY29 FI5Y 1% (2) 1 +2° +-+n —;z B E— 2)1° +2° +-+n —;1 B —
ST IR T 7 | Stk =17 +22 +-~~+k2=—k(k”)(§2k“) S(ky=1% +2? +---+k2=—k(k“)6(2k“)
BY30FIBYT S(ky=1+2° +-- + &> + k(k +1)° S(ky=1> +2° + £+ (k+1)°
FY43FI5V3 \f(x(;)—b|:l+b2%:30; |f(x5)—b\:|—1—b|:1+b2%:50;
STA3FISTS i \f(xs)—b|:1+|b|2%:so |f(x,5)—b|:|1—b|:1+|b|2%:go
5749 TGV O |23 Iim ()= [xT) 23, lim ('] [2]")
5T 52 FI5Y8 <\/g~\/g+|b|- Lol \f \f bl e

3 V3 3|b[+3 3|c|+3 3|b| +3 3lc|+3
BT S4 1S3 i then 35, > 05g(x) > ——>0 then 35, >050<|x—a|< 5, = g(x) > ——>0
b+¢ b+e
SYSSEIET8 i 22. lim )2 22, 1im X2
x—>-1 x— x—-1 x —1
ST EQ 1T O 5 im D2 L x+2
F)JSSFJF)J9I_’ 23. !clfgﬁ 23. !Clil'zlﬁ
SYS9FIBY2 5 hm[ ! ! et ! ] 1 lim !
B 18} = = =
= \n? 41 \/n2+2 n? +n Wit 4l \/n +2 \/n2+n
_ 2 ifx20 x> ifx#0
ST60FIST2 5 =" X)=
Hoe /() {1 ifx=2 A T,

and lim f(x) =limx* = 4* . Hence,
x—a x—a

xeQ xeQ

and lim f(x) = limx? = 4* . Hence,
xX—a x—a

xeQ xeQ

FY63 FIV 12 7 S(0) = lim (-1) =1 f(0)= lim (-1) =1
TR FISY 11+ ox=2,-1¢[03] ox=2,-1,bw—1¢[03]
2 3 _
S0 YT | 11 fim X 1. tim =17
x4y’ +1 o 4y 4]

Similarly, s"(¢) = (s")'(¢)

Similarly, s"(£) = (s'(2))’

limv, = hm(gto +;gAt) gt, =10g

At—=0

At—0

limv, = llm (gto + ; gAt) = gt, =10g =98(m/sec

~2~




FIRBT3

1_
then f(x)=Lx" Vx#0.
n

then f(x)— x" Vx;tO.

() :(’"”M)'G’“"lj

LG R W B U | i 1 i
nn xn—l n nn an—l n
3+x 3+2 3+x 3+2
X2 x=2 XX x—=2 x—>2 x=2 T2 x=2
. [x| .. -x .. -1 | x| L 1
AR e v pa kI B ST
FIST6 0~ M hm(x a)+ llmf(a) f(x) f(a) lim(x—a)+limf(a)
X—a x— xX—a
84 FIT1 A formula /"(x) = M formula £(x) = M
Flov12 7= 21. y=x>+3 21. y=-x"+3
FISTS i (f(x+h)g(x) S(g)(x) i (f(x+h)g(x) S(x)g(x)
i (g i gy h
(XF)' =((gom(x))' = g'(h(x))-I'(x)
=g'(u)-1'(x)

— (muml)'(lxilJ
n

(2)y=(x3 +x—1)3

(Z)y:(x3 +x—1)5

_4Qx- 5)(x? +1)— x(2x - 5)]

_4Qx- S)[(x? +1) — x(2x —5)]

(L1

(x* +1)° (x> +1)°
3P [ Lty Doy
FIFEEETS & | (5) Let f(x)=2(2x-3)° (5) Let f(x)=(2x-3)°
(x—1)? (x-1?
5796 FI5T 7 = 19. = 19. =
5796 F i S(x) D) S(x)= 1)
! w1 4 ar" a1 4
99 TRl 5 | @) Lanm L © Lo L
dx dx
57101 FIFI8yT 12 7= | and we get x; =9.99667 , and we get x, —998.9 =9.99667 ,
SV 101 FIFUEEDY 11 77| (999 =998.999---) (Note 999 = 998.9999--- = 998.9)
57106 FI872 i _ (4x® +3x?)(3x* = 2x) — (x* = x* +1)(6x - 2x) _ (4x® =3x)(3x* = 2x) = (x* —=x* + )(6x-2)
’ 2 (3x* —=2x)? (3x? - 2x)*
27106 E1578 7~ —(2y):—(2x) y+2x-— b 2y+2xd— —(2xy)——(2x) y+2x- &_ 2y+2xd—
:
dx dx dx dx
. » dy 1-2-1 dy|  _1-2-1
5T1 == =—= =1 == =-1
7Ry L ", T 2o "], T2

(E)]




57107 FI BT 5 =

7. (7 +y?)=(x-p)" at (1,0),

7. (P +y?)? =(x-y) at (1,0),

7113

3

uf)

FIRIEST 13

a®>—b*>+c* —2bccosa
b* —a® +c¢* —2accos B

¢ =a* +b* —2abcosy

a’> =b* +¢* —2bccosa
b?=a’ +c¢? —2accos B

c* =a* +b* —2abcosy

sin x sin x
X +sinx I+ 1+0 X +sin x I+ 1+0
ST LIS Iy T = (4) lim = lim S - =1 (4) lim = lim X =1
x>0 X 4+ COSX  x—o® 1 CcoSXx 140 x>0 X 4+ COSX X COS X 1+0
+ 1+
X X
Y119 P13 4 i 508 x(cosh—1)sin xsink i <08 x(cosh—1) —sin xsin/
x>0 h x>0 h
F7 120 FIEEEDT3 5 | (1) Let u(x)=x" +3x and f(u) =sinu. (1) Let u(x)=x> +2x and f(u)=sinu.

I
<

120 FIIGPY2

i(sin(x3 +2x)=
dx

4 o
T (sin(x” + 2x)) =

ST123 FIST 14 5

I
G

for x e (—o0,1]U[l,®)=D(sec”’) and

for xe(—o0,1]U[l,)=D(csc™") and

123 FIEIEPT 1 5

I
G

-1

cos ' (cos(z—cos™ x)) =cos ™ (—x)

x)) = cos ™ (—x)
(xe[-1,1]=>—xe[-1,1))

cos ' (cos(z —cos ™

SYI28 F1875 5 where sec? u =sec™ (cos ™' x) = where sec? u =sec? (cos ™ x) =
. — d d(Inx 1 d 1 1 d d(Inx 1 d 1 1

STI33 FIST5 = Zlog, A - py=— o Llog yx=| 2 e T px=—— =
’ H9y> dx 08a % dx(lna] In dx e Ina x dx Ea x(lna} Ina dx ¥ Ina x

o0 1 1
93 159 [1536 f'(x)=2x-2x3 S'(x)=2x-2x

- 2 2 2 2 4
23 159 F193 13 O=x2—3x3=x3(x -3) y=0=x>-3x3 =x3(x? -3)
ST 168 FI15T3 7 for x>0,and 0= f(0)< f(x). for x>0,and 0= f(0)< f(x).

Fi(x)=3x—12x+9=3(x-1)(x-3)=0 x=1,3
Fr(0)=6x=12=6(x—-2)=0c x=2

['(x)=3x* —12x+9=3(x-1)(x-3)=0= x=1,3
f'"(x)=6x-12=6(x-2)=0<x=2

5?177?[%2(’? h'(-1)=-30<0,4'(0)=6>0, h'(—%)———<0 h0)y=6>0,
Y177 F1873 5 in the intervals (-1,0),(0,1) and (1,2), in the intervals (-4,0),(0,1) and (1,2),
Y177 F1874 5 and —l<a<0<b<l<c<?2. and —f<a<0<b<l<c<2.

1) 13
h(-1)=6,h ——|=—,
LT

1 13
h(-1)=6,h -——|=-——,
cv=6.-5)=-3

L<0,we know
100

—L<0,wekn0w
100

Let F(x)= f(x)VxeI\{c}andF(a) =0,
G(x)=g(x)Vx e l\{c}andG(a) =0.

Let F(x)= f(x)Vxel\{a} and F(a)=0,
G(x)=g(x)Vxel\{a} and G(a)=0.

—sinx

(3) lim

x>0 x

—sinx

(3) lim

x—=0 )C

(1) We have limsinx=1lim=0,
x—0 x—0

(1) We have limsinx=1limx=0,
x—0 x>0




57 186 [I oY 4 7

If l_inéf(x) =400, lim g(x) =40 and if

ﬁ‘f 195 FI{fErs72, 4

If lim f(x) =+, lim g(x) =10 and if
(x=3)* 1

S (x) 1
)le 4(x-1) 4
5x+9 5

1 —
lim x| = dim 22
xaﬂo(f(x) 4 x] x>t 4(x —1) 4

lim
x>t  x

2
ORACI RESTC ) M
X0 X x—0 4(x — 1) 4
lim| £(x)—Lx |= lim =22 3
X0 4 o 4(x—1) 4
2 1
f(x)_ G105 S(e+2)

3 3/x

2 1
10 5 _5(r+2)

' _ 2.3 3 _
S =337+ .

I 4 | .
10 5 10 5 10 1 10 - 10 - 10 1
S0 =gt = = [ j Sr0) =S = [ j
9 9Afx 9 9/x
5T201 F1877 = Ax, =x; —x,, Vi=1,2,--,n Ax,=x,—x,, Yi=1,2,---,n
B} 203? '\_.I = H\%}HIE}OZ}((CI)AX; =L7 lim Zf(ci)AxizL’

[#1—0
1

Choosing ¢, €[x, ;,x,1NQ

Choosing ¢, €[x, ,x;, 1N Q

I
G
()
(]
oo
Bunt
Ik
H
[\S]
g

- b—a) b—a
=Ilim a+i- .
nqog‘f( n j n

b—a

- b—a -
= lim a+i- .
LW R

. b—a[~ b-a
= lim n [;f(aﬂ n j}

. b—a|~< b-a
=1 E +1i
ngrolc n [i—l f(a ! n j}

57216 FIEIFST2

0
2) J‘ sec x tan xdx = sec x](,), =sec0— sec(%j
z i

0
2) j sec x tan xdx = sec x]o , =sec0— sec(— %)
% ¥

5

5 S - 2 42 1 2 293 2 42 1 2 293

Bl | {3 ;_‘I =1 = —42:3— — | £.1=-3|==22 = _42_3_ —|1£.1=-3|==22

91221 TS | (5 4} (5 j 20 [5 4} (5 ) 20

—>0 b
SY225 F18Y5 = if j f(x)dx does not if blim j f(x)dx does not
B _ ,OCL +ocL
37226 1878 .[ Y dx converges to o1 J.l Y dx converges to o1
57226 1579 = J_ L v diverges. J. L ax diverges.
1 xP 1 xP
57007 TIST6 lim I L k- lim J'H—l_dx
g3 227 EI:J6|# Jm | g = Jm | = = =
{:) ol
S‘T238 Hl ,mJ ?‘S‘T“- = _Lj—a: 1 t311171 +c :Lj—a:ltan%i_j’_c
] F =T 4 e 2 a a a2 )V a a
1+(j 1+[j
a a
2 2 2 2 [ 2 2
JY243 FI1578 15 A L . L S
a 2 a 2
, . f 2 2 [ 2 2

9T 245 FIFIREDTT 5 1 (8) J-\/az—xzdxz sin”' =+ T 3) J.\/az —xzdx=%51n’lﬁ+%+c

a




249 FIRET2 5

2

du = dx andv=x7.So

1+x

2

du = dx and v=%.So

1+ x2

uf)
-

255 FIZTS 7

2) J.sin3 xcos” xdx = J.sinz xcos” xdx

2) Isin3 xcos? xdx :J.sin2 xcos® x - sin xdx

. n—1 m+l _ . n-1 m+1 _
97256 FIiFRraY4 = | = S Xcos X 7 ! sin"2 xcos” xdx | =S XCOS X 71 ! sin”? xcos” xdx
m+1 m+1 m+1 m+1
s n—1 m+1 s n—l1 m+1
. . — ||sin"" xcos""x mn-1¢. ,, sin"” xcos"" x n—-1( . ,,
256 FI@EraT 1 = + jsm" xcos” xdx - + jsm” xcos™ xdx
i T L { m+1 m+1 m+1 m+1
2d 2d
and uz . and dx = uz :
1+u 1+u
2 2
dx du
_J 1+u? _J‘ du _J‘ 1+u? _J' du
4u 1—u? 2u? +2u+1 4u 1—u? 2u? +2u+1
= 5 +3 = 5 +3
1+u 1+u 1+u 1+u
s b 3 s s s
=—sin? x| ——sin? x :gsinzx ——=sin? x
37279 EJE}I3,4 = 0 % 0 g

_2 (2.4
5 Us) s

Y293 FIST9 /7

10. y=x*-1,y-1-x*

10. y=x*-1,y=1-x"

JIL
[
=
i
JIL
[«
N
s

(3) Since y'=sin=,
C

(3) Since y'=sinh >,
C

JIL
[
(U]
=
i
JIL
[«
(@)}
s

b x x] b
= ZI cosh—dx =2csinh— | =2csin—
0 c

b X x| b
= 2.[ cosh —dx = 2c¢sinh —} =2csinh—
o c

306 F1BEIT L 7

&

C 0 C
=§(3\/173 ~1).

C 0 C
=§(\/173 -1).

n

_1y 2 Ll sy
4, =3 2 S0 >3 [ s

i=1

> =13 erran L oyao
i=1 i=1

the polygonis p, =2n sinz—ﬂ

the polygonis p, =2n sinZ
n

n
1 1 1 1
n+4 n+5 n+p-2 n+p-1

(o 1y 1 3 1
n+4 n+5 n+p-2 n+p-1

V=L @1 2.

N> [L @1 2.

Let f(x)=a,x" +a, x"" +-+ax+a,

Let f(x)=a,x" +a, x"" ++ax+a,

) LAMCTRY

|
s n

AP
;—k! (x—c¢)




(n) nr (k)
EJ371EJ;J14 =3 f(x)= Zf (C) —c)" f(x):;%(x_c)n
f (n+1) (0) f(n+1) (0)
. e ]
Y374 FIRIEPSY 7 5 | tim| 0D 1o lim| 2D
n—w f<")(0) n—>o0 f(")(())
n! n!
ST374 FIFIEET 15 | So xg'(x)=i k x" So xg’(x):in k x"
’ ‘ ’ n=1 n n=l1 n
5Y380 FIAIPET2 7 | 24 ——,x=0 U, L o3
x+1 x+1
SY3RIFIFIEYSY L [ 7. f(x,y)=1+x=y,c=1,2,3 7. fx,y)=1+x-y,c=1,2,3
) I X m?y? m>y?
SIRLFIET8 7 | S0 =f(my.y)=— SO = fmy, 9=
my +y y +y
5T391 F1878 = line x =mx (m #0), then line y =mx(m#0), then
3 3
57393 F1578 2)  lim & 2)  lim &
(x,y)>(a, b)x y+5xy y (x, »)>(0, l)x y+5xy y

HY393 FIV 10

(5)  lim x -y
. 0)=0.0) x+y

x+y

Q)

(x,»)—(0,0) x4+ y

= - xt -4 x: -4
SY393 18T 12 /% (1) Let f(x, y)— (1) Let f(x, y)—
2+xy’ 2+xy’
o _ . x—xy+3 0-0.1+3 x—xy+3 0-0-1+3
57393 FIBY 15 i lim Y o =-3. im T -
G 0)=>0.D) x*y +5xy — y 0+50-1 =00 x“y +5xy —y 0+5-0-1
JY394 FIFREYS = [ (4) é(ifg(a,b)io) 4 g(ifg(x,y)io)
- - x2 —xy+y? x? —xy+ y?
5Y395 1876 r(x,y)=———— r(x,y)= 3
4x +y 4x+y
’ x3—x2 + X 2 x3 X v+ x
57395 FIRIERT L = | 3, f(x,y)+yy L (L) 3. f(x.y)= yy 2NN
. d d
sarpmas | L =Lren| =feere | L =L = £ )
2 1 T, dy B & d -
X0 5 ¥0) y=¥o (x> ¥0) y=Yo

£, 1) =2 () = Inx
dy

£ =2 ()= Inx
dy

Show that £, (0, 0)and £, (0, 0).

Find £,(0,0)and f,(0,0).

Show that f,,(0,0) and f,, (0, 0).

Show that f,(0,0) = f,.(0,0).

of f(x,y) aredefinedon D=

of z= f(x, y) aredefinedon D=

+ & Ax + Ay + 5;Az,

+ & Ax + 6,Ay + &z,

+.(Xg » Yo 5 Z9) €08 Y

+. (%o » Yo 5 Z9) COS ¥




5y 428 F1E5T 10 =

if (xg,v,)2 f(x,y) forall (x,y) inthe

if f(xg,y0)2 f(x,y) forall (x,y) inthe

ST 428 FIFRT 8 =
1

if f(xy,¥0)< f(xg,¥,) forall (x,y) in

if f(xg,y0)<f(x,y)forall (x,y) in

9T 429 FIiFReeT 6 = | (1) fi(xg,¥0)=0=f.(xy,¥0)0r (1) fi(xg, ) =0=f,(x,, ) 0r
ST 430 FIEREYT 5 | 0=f,(x,»)=2y—4 so y=-2 0=f,(x,y)=2y+4 so y=-2

SY431 F157 14,15 (5

D(x, , yo) = fxx(xo%)f}y(xoyo) _[fxy(xoyo)]z
_ fxx(xoyo)fxy(xoyo)
f:vx (on’o)fyy ('xOyO)

D(xy, ¥o) = [ (X 5 J’O)f}y(xo > J’O)_[fxy(xo > yo)]2
_ frx(x() s y()) fw(x() > y())
fyx(xo s Vo) fyy(xo s Vo)

SY431 FIBV 16 5

(1) If D(xyy0)>0 and f, . (x,¥,)<0,then f

has a local maximum at (x,y,) .

(1) If D(xo sy0)>0 and fxx(xO ay0)<0’then

f has alocal maximum at (x, , y,) -

(2) If D(xy,)>0 and f, (xo3,)>0,then f

has a local maximum at (x,y,) -

(2) If D(xy,y,)>0 and f,, (x,,¥,)>0,then
f has a local maximum at (x, , y,) -

5T431 FIST18 (3 (3) If D(x,v,)<0, (3) If D(x,,»)<0,
5] 431 —EIE)J 19 = (4) If D(x,y,)=0, ® If D(xy,»0)=0,

(1) f(x,y)=3x> =6y and f,(x,y)=3y* —6x

(1) f.(x,»)=3x> -6y and f_v(x,y)=3y2 —6x

STA32 F18Y7 = 2) fi(x,y)=y—-2x and ) f.(x,y)=y—-2x" and
@432?[59[’? Sx-2,y=-2 Sx=-2,y=-2

STA32FIST10 5 | Since £ (x,1)=2, Since /..(x, ) =2,

STA38 F1872 = if Vg(xy,,2,) and Vh(x, , if Vg(x,,50,20)#(0,0,0) and Vh(x, ,

57456 £ FIErET 7

V=_I['|.f(x,y)dA =H0§ﬁgo;f(x,- VA
i k

uxv=|Ax, 0 f.(x;,p)Ax
0 Ay, .fy(xi » YA,

v = j [ 1o maa= ;,lﬁg();f(xi VA,
i k

uxv=|Ax; 0 f.(x;,y)Ax;
0 Ay, .fy(xi > Y)AY;

1

97436 FIFRiY 8 i

x?+y? =b*} . Hence

x* +y? <b*} . Hence

57465 T FIECET 7

6 oy
13. II~xdxdy
o Jo

6 ey
13. j j xdxdy
0 Jo

J1

57475 I RIRNEYS §

D, = psinpAG

D, = psin pAd

BT 477 T RT3

= p*sin® pcos® O+ p* sin® p+ pcosp

= p*sin? pcos? O+ p* sin? psin® O+ pcos

27 0L 03
:J j“ I (p* sin? @+ pcos p)p” sin pdpdpd
0 0 JO

2 0% 03
:j I“ I (p* sin? @ + pcos ) p* sin pdpd pd 6
0 0 JO

J1

5T 481 FIFIEGSY 3 ¢

> =Y G52
i=1 i=1

if()_c’ Vi Z)As; zm:iAmz‘
o i1

ST483 FIT1 i

onaregion D in R® containing a

onaregion D in R* containing a

ST484 FIFEDT 10 =

(2) Evaluate '[(x + y)dx
L

2) EvaluateJ‘(x +y)ds
L




1 2! ) 5!
57485 FIY5 i :I(l+t)t 0+ 1rdr=] =3, =_[(1+t) 02 rg D 4 1 3
o 2|, o , 2 2 2
1 1
Tass e i =200 = - —V20-07 -
0 0
B B 1 2 1 2
2y486 F15Y3 /7 =J 2x7dx +I 2(2-x) dx =J‘ 2x%dx +J 22 —x)%dx
0 1 0 1
STA8T F1871 = O =(x'@, y' (), 2'(t)) s r')=(x'e), y'@),z'@))is
SV 487 FIHY8 i V@) + (O +EO) =] F0) | V) + (') + @) =] F 0|
1 1
ST488 FIT 7 iF :J.(2t4i+4t5j+9t6k)-(t+4tj+9t2k)dt =J-(2t4i+4t5j+9t6k)-(1+4tj+9t2k)dt
0 0
5T494 FIiFEsT4 5 | for p>0,0<0<27x for p20,0<60<2x
svaoa it = | =[] =[]
D U
5499 FIET2 i (2) Evaluate ” xyzds, (2) Evaluate “' xyzdS
S S
57518 FIFIE3Y 10 77 | (CurlF-m), = llmALS AILT Tds (CurlF - n), :Alsigloé Af'TdS
5V 518 FIfFIEy®Y 1 | Since (CurlF - n), Since (CurlF - n),
SYS27 FI5Y 14 = J.[(x2 —2y)dy +(3x+yc*)dy](c > 0) J-[(x2 —2y)dx + (3x + yc” )dy)(c > 0)
n-1 n+l
SYS3TEIST3 5 5. j(ac+b) dx —M+C,n¢—l 5. I(ac+b)"d —M+C,n¢—l
a(n+1) a(n+1)
n+l n+l
SYS3TEISTA S T haxth b\ e, gy |S@rDTadb b e
a? n+2 n+l a? n+2 n+l
57538 F1572 18. I o 2: Xra e 18. j —— |
X—a a —.X xX—a
57541 FIRIEET2 i | 83. Jcotaxdx=—1n\sina|+C 83. J.cotaxdx:—ln|sinax|+C
a a

41

5} 544 FIFIREDY 3 7

139, '[O}"-le-de —T(n)=(n-1)!,n>0
0

139. J.O;c”_le"‘dx —T(n)=(n-1),neN
0




